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1. 2Fase el [#%154%])
2xpy'=3y" +x* 5 y(1)=2
2. TR s K [y 159])
Y +2y"-5y'-6y =100e™* +18¢™*
3. (a) # 3.8 Convolution T &EH - [45 55 ])

(b) ®A Laplace Transformation # kKRB F a8 F2X [4 15 5]
Y+4dy=sin3x, p(0)=y'(0)=0

4. Tgo— M g (Quasi-linear) B M 4 H £ X 5

a%z—-kb-a—‘z:f,(x)'*‘fz(Y) D E R ame A

x Oy

(1) s sutm oo 77 #2 K 69 45 # (particular solution)® X % z, = ¢ (x)+¢,(y) » A7
AT B TR

2=~ [fides [LO)dy - abeo (30555 4]

Q)X FE L L B % 4 F 2 KX &9 i@ A (general solution) # & 2
2(x, y)=fbx—ay)+z, « [3t5 5 4]

(3) %&*%?_{_2?—2_:2_7(—9)'-{-1 o [%‘—}‘/ﬂ\ : 5 /ﬂ\1
dx Oy
64
5. o RE A ———-—axf—iy=0 s y(0)=0, y"(0)=0, y(1)=0, y"(I)=0 &

A=a' > a>084F M > MR b R1E MR &Y B 4 {4 (eigenvalues) 2 Bl & & &
(eigenfunctions) » [3t 4 : 15 4]
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6. 4o ¥(w)= 2002
(st 10 4]

3R E R4 3r 3 s34 (Inverse Fourier transform) S7'[Y (w)]=?

7. ot —mBEEEAES
B =[sin(y +2z)cos(y—2z)]i +[sin(z + 2x)cos(z — 2x)] j+ [sin(x + 2 y) cos(x — 2 )]k
X4 R Z xy-F@EHx=0 y=0> x+2y=2r ZHELMLEHER > REEB
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